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Analyze and interpret the following statistics concerning output of wheat per field obtained
as a result of experiment conducted to test four varieties of wheat viz., A, B, C and D under
a Latin-Square design.

C-25 B-23 A-20 D-20
A-19 D-19 C-21 B-18
B-19 A-14 D-17 C-20
D-17 C-20 B-21 A-15

[Given: F(3, 6) = 4.76 at 5% l.o.s]
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2
Set up an analysis of variance table for the following two-way design results: per acre
production data of wheat in metric tons.

Varieties of seeds
Varieties of
fertilizers A B C

W 6 5 5
X 7 5 4
Y 3 3 3
Z 8 7 4

Also state whether variety differences are significant at 5% level.
[Given: F(3, 6)=4.76 & F(6, 2)=19.33]
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3
In a sample of 600 men from a certain city, 450 are found smokers. In another
Sample of 900 men from another city, 450 are smokers. Do the indicate that the
Cities are significantly different with respect to the habit of smoking among men.
Test at 5% significance level. [Given Z = 6.38 at 5% l.o.s]
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4
a) The nine items of a sample have the following values: 45, 47, 50, 52, 48, 47, 49,
53, 51. Does the mean of these differ significantly from the assumed mean of 47.5
at 5% significance level? [ Given: t= 2.31 for d.f = 8 & 5% l.o.s]
b) Let the observed value of the mean X̅ of a random sample of size 30 from a
Normal Distribution with mean μ and variance σ2 = 80 be 81.2. Find a 90% and a
95% confidence intervals for μ. [Given Z = 1.96 at 95% C.I & Z= 1.645 at 90%]
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5 State Central Limit Theorem . An unknown distribution has mean of 90 and a
standard deviation of 15. Sample of size n=25 are drawn randomly from the
population. Find the probability that the sample mean lies between 85 and 92.
[ Given: Z(−1.67)=0.4514, Z(0.67)= 0.2454 ]
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6 A sample analysis of the examination of 500 students was made. It was found that
220 students had failed, 170 had secured third class, 90 had secured second class
and 20 had secured first class. Do the figures support the general examination result
which is in ratio 4:3:2:1 for the respective categories
(Chi-square test value at 5% l.o.s & 3 d.f is 7.81)
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